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(iv) avE - F 321 777 (1821) & | g go7 & ford 1 37% RERa & |

(v) T -GHT 5T (22 §28)F | IE% T F 79 2 37 RERT & 1
(vi) TS -TH3 T (29 @31) 8 | I T % Ie7 3 37% ReRa & 1

(vii) TUE- T4 59 (32 9 35) 8 | 59% 597 F I 4 7% ReRa & 1

(viii) @ - FH2 57 (36 T 37) & | I J7 % o 5 e FeiRa & |
(ix) @} S o7 %1 3% a0 Python Language ¥ a1 ST & |

(x)  Fglawcdiy ge (Multiple Choice Questions) & grel 4 @8l IR BT text 4 forar
ST T |

U -6 (21 x 1 =21)

1. o o g g 71 7o 1
“Python List T g wuft TR (elements) T £ 21 2T o B =1ige |

9. frefafad Soie (Statement) 1 S (Qutput) F1 R ? 1
print (14%3**2%4) |
(A) 16 B) 64
(C) 20 (D) 256
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General Instructions:

91

(i) This‘question paper contains 37 questions.

(it)  All questions are éompulsory. Hoivever, internal choices have been
provided in some questions. Attempt only one of the choices in such
questions. : ' R

(iii) The paper is divided into § Sections — A, B, C, D and E.

(tv) Section A, consists of 21 questions (1 to 21). Each question carries
1 mark. : ‘ :

(v)  Section B, consists of 7 questions (22 to 28). Each question carries
2 marks. ' o

(vi) Section C, consists of 3 questions (29 to 31). Each question carries’
-8 marks. : ' ' '

(vii) Section D, consists of 4 questions (32 to 35). Each question carries
4 marks. | i

(viii) Section E, consists of 2 questions (36 & 37). Each question carries
5 marks.

(ix) All program,ﬁzing questions are to be answered using Python Language
only. '

(x)  In case of MCQs, text of the correct answer should also be written.

~ SECTION - A ‘ - (21x1=21)

State True or False : . : " | , ' 1

“A Python List must always contain all its elements of same data type.”

What will be the output of the folloWing Statemeht T 1
‘print (14%3**2+%4) i B e
@. 16 ® 64

C) 20 (D) 256
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3. ﬁmﬁi@aﬁg%ﬁz(mde smppet)maﬁaszgz(output)aﬁ@: e 1
: game-"Olymp:Lc2024"

print (game.index ("C" 3)

@ o R - ® 6
© =1 L (D) valueError

4 Prefofed § 3 99 W ATRREEST (dentifier) WHE ? | 1
(A) global ; (B) Break | | |
(C)  def . ' (D) with

5. frefeReq frredi § @ 3= (invalid) Python stétementﬁﬁﬁ?ﬂ's'q P 1
(A) printb( "A",10,end=" *‘;) A B) print { ';A" S s"epv="' *" 10)
(C) print("A",10,sep="*") : (D) print ("A"*10)

6. zﬁ%ﬁaméﬁ‘c{&(statements)mﬁﬁﬂﬁmﬁﬁﬁ@ﬁmﬁ@@m
(output) ﬂﬁﬁ ' 4. | : , 1
L=['TIC', 'TAc'j . ’ | ’ |
print (L[::-11)
| -4(A)y ['cIT', 'CAT']  ~ (B) ['TIC', 'TAC']

© [car', 'ciz'] - (D) ['TAC', 'TIC']

7. fr=fifea T8 %9 @1 AWK (operator) True ga'c_ngZ (e\}aluate) Bl 8, 9k Ei
. 3R (operator) & THI TH 3RS (variable) TUH FHW T (memory |
location) st ﬁsﬁmwﬁ% AT operator False ﬁsézgqa (evaluate) %}Rﬂ% T 1

Q) is B) is not -
(C) and B (D) or |
91 | Page40f32 o ~
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Identify the correct output of the following code snippet :

game="0lympic2024"
print (game. index ("C"))
@w o ' S ® s
© -1 . D) ValueError
Which of the following is the correct identifier ?
A | globalA ' . B Bfeak
() det - (D) with

Ideritify the invalid Python statement out of the following options :
(A) print( nan ,10,end="*") (B) print("A",sep="*",10)

(C) print (‘"’A" .10, sep:"*") (D) : prlnt ( "A"*lO)

Consider the statements given.below and then choose the correct output
from theAgiVen options : o
L=['TIC', 'TAC']
print(L[::-1]) ‘
(29] {'¢1T', 'CAT'] ® ['TIC', 'TAC']

© ['car', rcIT'l | (D) ['TAc’, 'TIC']

Which of the following Operator evaluates to True if the variable on either.
side of the operator points towards the same memory location and False
otherwise ?
(A) 1is (B) is not
(C) and . D oer
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10.

'E{%

| | :ﬂ% few U I%?Iﬁ?;ﬂ (statements) ‘?{I ACELLE Bﬁﬁm 3T ﬁﬁ? o Tfﬁ ﬁm (optlons) 0

B HE B (output) CIEEE 1

D={'s01':95, 's02':96 }
for IinD : . i

print(I,end='#") i :
(A) sO01#so02# - (B) 95#96#

(C) s01,95#s02,96% (D) SO01#95#S02#964#

, HT%W (table) %?IR %0 IU9 N O Y (constraint) TS H FRET T

(duplicate values) %1 gfafee (insertion) TE T T 7 1
' (A) UNIQUE . ® DISTINCT ' '
(C) NOT NULL | ®) HAVING

ﬁ%ﬁem@zﬁ{a (statements) qz%%mﬁi%m Bﬁ”{mﬁﬁ@ﬁmﬁﬂﬁ 3113?:32
(output) ‘f[ﬁ'a : ; ! 1
def Change (N): ~

N=N+10

print(N,end= 1887)
N=15
Change (N)
print (N)

(A 25%%15 G . (B) 158%$25

11.

91

(C) 25%$%25 | (D) 2525%%

-:ﬂ'%( 3 @ weiE (statements) e Hife i R i@ ™ ﬁ'ﬂ?@ (optlons) i}l

HEl IBYE (output) g&r& . 1
N='5" | | '
try: :
prlnt( WORD' + N, ,end“'# )
except

pr1nt(fERR0R',end='#')

 finally:

- print ('OVER') :
(A) ERROR# S ~ (B) WORDS#OVER
(C) WORDS5# | (D) ERROR#OVER

Page 6 0of 32 - : ~
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11.
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Consider the statements given below and then choose the correct output
from the given options : 1

D={"'801':95, '802':96 }
for I in D :

print(I,end="#")
(A) s01#so02# (B) 95#9%¢6# ;
(C) s01,95#s02,96# (D) so1#95#s02#96#

While creating a table,” which constraint does not allow insertion of

duplicate values in the table ? 1
(A) UNIQUE (B) DISTINCT
(C) NOT NULL (D) HAVING

Consider the statements given below and then choose the correct output
from the given options : 1
def Change (N):
N=N+10
print(N,end='§$")
N=15
Change (N)
print (N)
(A) 258815 (B) 15%%25
(C) 258325 (D) 25258%

Consider the statements given below and then choose the correct output
from the given options : 1
N='5"
try:
print ('WORD' + N, end="#")
except:
print ('ERROR' ,end="#")
finally: '
print ('OVER')
(A) ERROR# (B) WORD5#OVER
(C) WORDS# (D) ERROR#OVER
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12.

13.

14.

15.

16.

17.

91

Bl
=
Frefafiga § 9 9 @1 Built-in function/method T ety (dictionary) i STH™
(return) KT 37
(&) diet() | B) keys()
(C) wvalues() (D) items()

SQL T frerierfiaa 5 @ s € dimee wavs (DML command) 8 ?
(A) UPDATE (B) CREATE
(C) ALTER (D) DROP

SQL T S O7 ST BRE (aggregate function) T (NULL) W (values) e
FeET i 7Y FiEs Wiem (specified column) T It (values) 1 G&T TeRE
HEE ?

A) 1len() (B) count()

(C) number () (D) num()

MYSQL 1 forE TP 5 ‘a?f?]\(value) Y ITEA f%l'é‘-f (Quotation marks) EXCHER]
femmr=ie 7

(A) DATE (B) VARCHAR
(C) FLOAT (D) CHAR
TE (True) T T (False) ERiDE

Ife AT (table) A ¥ 6 UfdTET (rows) 31k 3 He™ (columns) & 3N aTferdT B |
5 ufEmEt 3t 2 Sfem §, @ A K B % H™ UHwS (Cartesian product) ¥
30 Ufedal (rows) 3R 5 HieH (columns) B |

FR Ree (signal) W I SE HT 3N 3 WA (transmit) FH F &
Frefofiad 1 9 S o1 Jedio 3us (Networking device) T R S g ?

(A) & (Hub) (B) U HE (Ethernet Card)
(C) Tiet (Repeater) (D) TR Modem)
Page 8 of 32 ~




12.

13.

14.

15.

16.

17.
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EIE.EI
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Which of the following built-in function/method returns a dictionary ?

(A) dict() B) keys ()
(C) values() - (D) items ()

Which of the following is a DML command in SQL ?
(A) UPDATE (B) CREATE

(C) ALTER ‘ (D) DROP

Which aggregate function in SQL displays the number of values in the
specified column ignoring the NULL values ?

A) len() ‘ (B) count()

(C) number () (D) num()

In MYSQL, which type of value should not be enclosed within quotation
marks ?

(A) DATE (B) VARCHAR

(C) -~ FLOAT (D) CHAR

State True or False :

If table A has 6 rows and 3 columns, and table B has 5 rows and
9 columns, the Cartesian product of & and B will have 30 rows and

5:columns.

Which of the following networking devices is used to regenerate and

transmit the weakened signal ahead ?
(A) Hub (B) Ethernet Card

(C) Repeater (D) Modem
Page 9 of 32 ~ P.T.O.




18.

19.

20.

21.
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5E

=

e W BH $cd (phone calls)%%ﬁﬁﬁﬁﬁf@ﬂﬁ@(&ﬁ?mﬁmﬂﬁw
(protocol) & ?

(A) PPP , (B) FTP
(C)y HTTP (D) VoIP

ARPANET 1 vt €9 (full form) fIRa |

9T T 20 3N 21 IMERE (A) 3R T (R) W InuRa W ¥ | we ey W
FrefaRaa w9 1 PR e ST GNT -

(A) W(A)aﬁta%m)aﬁ@%aﬂwﬁawm)mﬁmm%(ﬂ)%|

B) IhmreA (A) 3R ad (R) 31w € 3R airemer (A) %1 T Trdsh T (R) &
=

(C) e (A) & B, Wy T (R) TTere 2 |

D) firper (A) T &, R @ (R) TR |

FMEEYE (A) ¢ 'rb' mode ST ITAN HH WieAl TS ST BEA (binary file)
% T pickle.dump () TUE (method) T jﬁf (error)
fe@rm | |

@ (R) . pickle.dump () BUE (method) ST AV STET HIsel & UG
¥ R fesma |

e (A) ;w9 MYSQL % T & e aifersniatt (tables) ¥ Tehie w1e o
HqHA B |

@ (R) . WRT H (Foreign key) 1 TN &1 TR (tables) % siel
Terer wTia e o o fer SmaT R
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18. Which of the following options is the correct protocol used for phone calls
over the internet 7 | |

& PPP | . ® FIP
© HTTP | @) VoIP

19. Expand ARPANET.

Q. Nos. 20 and 21 are Assertion (A) and Reason (R) based questions. Mark

- the correct choice as
(A) Both Assertion (A) and Reason (R) are true and ‘Reasc‘m (R) is the
. corréct explanation for ‘Assertion A). |
B Both Assertion (A) and Reason (R) aré true énd Reason (R) is not the
‘ correct explanation for Assertion (A). ' .
© Assertion((A) is true but, Réason (R) is false.

D) Assertion (A) is false but, Reason (R) is true.

20. Assertion (A) : For a binary file opened uSing 'rb' mode, the
pickle.dump () method will display an error.
Reason (R) : The pi'ckle.dump’()method is used to read from a

binary file.

21. Assertion (A) : We can retrieve records from more than one table in
' MYSQL.
Reason (R) : Foreign key is used to establish a relationship between

two tables.

91 | Page 11032 ~  PT.O.




e

wE-w . (1x2=14

- 22, Torefl wam (functlon) # frd @Eﬂ? (return statement) <l T ?m"Tﬁ % ? Th
STEUAR W%Eﬁﬁm l |

25, e Bythony & B 3-8 e 1 S R
. fo=sa W (Syntax Error)
(11) wﬁﬁzaﬁqwﬁq (Implicit Type Conversmn)

24, f=fafea D 3t D1 fewmmtat (dictionaries) T RER I
- D={"Suman": 40, "Raj":55, "Raman":60}
DI={"Aditi":30, "Amit":90,"Raj":20} |
(Faa fee-31 TReE WFH (built-in Python functlons) <hl smﬁn T §Q JN
& ) |
@ (a) Dictionary D 'ET "Raj" key % 313"6‘( value Wﬁfﬁ/aﬁ'{? FE % f\ﬁa
' T statement fafag |
) Dictionary’Dl ﬁ'ﬁiﬂé (length) Y&Ra %t % R T statement fRaT |
| (ii) (a) Dictionary D & Tt i aﬂ%ﬁfﬁ (key-value palrs) Ea) D1c:t1onary D1
%Wﬁgﬁ%ﬁﬁ statementl%!ﬁgq l
Y1

(b) chtlonary D1 ﬁ I TI'§ key, "Amit" Eﬂ@f 3TI’$°EI¥1' (items) ﬁ ﬁ'{ﬁ '35
ﬁ&’Q statement %fﬁé'q | :

25Wﬁ%ﬁﬁﬁwwmmwwmmm@@mmmmwm
JILYe (output)a%u’c{ﬁﬁﬁ‘aﬁﬁ mﬁ:—rreﬁ% -

import random
‘Cards=["Heart",6 "Spade","Club", "Dlamond"]
for i in range(2):
prlnt(Cards[random rand1nt(1 1+2)] end—“#")

A) Spade#D:Lamond# (B) spadefHeart#
(C) Diamond#Clubi# (D) Heart#Spade#
91 Page 120f32 = e



SECTION-B | (1x2=14)
22 What does the return statement do in a function ? Explain with the help
of an example.

Write one example of each of the following in Python :
(i) Syntax Error

(1) Implicit Type Conversion

.~ Consider the following dictionaries, D and D1 :

D={"Suman": 40, "Raj" :55, "Raman":60}
D1={"Aditi":30, "Amit":90,"Raj":20}
(Answer using built-in Python functions only)

(i) (a) Write a statement to display/return the value corresponding to
the key "Raj" in the dictionary D.

A OR
Write a statement to display the length of the dictionary D1.

Write a statement to append ‘all the key-value pairs of the
dictionary D to the dictionary D1. '

, ~OR
(b) Write a statement to delete the item Wlth the given key "Am:.t"
from the dlctlonary D1. s :

925. What poss1b1e output from the given options is expected to be dlsplayed
when the following code is executed ? ‘ : ; 2

import random

Cards=["Heart", "Spade" "Club" "Dlamond"]

for i in range(2): -
print(Cards[random.randint(l;i+2)],end="#")_

(A) Spade#iDiamond# (B) pade#Heart#

(C) Diamond#Clubf v (D) Heart#Spade#

91 ; Page 13 of 32 | ~ PTO




26.

o,

28

91

"

:ﬁ%ﬁﬁTWﬁg Neﬁ@w (integer) argument%@ﬁ@ﬁ%ﬂm%ﬁt :
18 N 7 % el qorist =1 am wefila st @ | frefafea #is w1 amar 9 s

i ot aft Rreew (syntax) 3 @ifds FA (logical errors) B3l %Zﬁ % Eﬂﬁ =
g TorRed | meft 69 TR Rl o1 tEieRd hi |

def Sum(N)
for I in range (M) -
. S=S+I

‘return S

. print(Sum(10)

ﬁwﬁ@m‘ﬂ%mﬁ?ﬁ (staff)zn"r%a (data) TE &1 T HIT1 TR | 38 SO
el 6 TEIW e, AW, R it g9 307 % R S % R EMPNO,
NAME, DEPARTMENT, BASICSAL ¥liSehi 9Tci EMPLOYEES 7% Th SQL table
T ST (staff) e (details) W & lwﬁ@@w%ams@ﬁm
ST B T © | |

G (2 Fnwism Q@E{E (attribute) = TEaT T g S R e A

(PRIMARY KEY) ewmaﬂ%q | 379 ST HT ﬁﬁmm :
) TSm0 1 39 He (consframt)imwwffmmﬁfﬁ@% ,
(attribute) NAME ¥ =T fRen T wfey arfes feie & vl & @

! % T B e NULL%mﬁEﬁ:ﬂ:mea\omgﬁé;z
Etl (duplicate values) B HFAE |

' () (a) EMPLOYEES table § BASICSAL feRINe: i 3TN (size) a’a‘&lﬁ 5 Ra

- SQL =i foRgy afs sod ST Y (maximum value);
99999, 99 HI TR RN & | ’

(b) EMPLOYEES 9 (table) %1 gem % 1w SQL s fafled |

. () URL¥ez a1l wu el ol s ere B |

JYET

-~ (b) ,PPPWW@WW;PPPWWW%? |
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ElZE
m%
L1

96. The code given below accepts N as an integer argument and returns the
sum of all integers from 1 to N. Observe the following code carefully and
rewrite it after removing all syntax and logical errors. Underline all the

corrections made.

def Sum(N)

for I in range(N):
S=S+1

return S

print (Sum(10)

Nisha is assigned the task of maintaining the staff data of an
organization. She has to store the details of the staff in the SQL table
named EMPLOYEES with attributes as EMPNO, NAME, DEPARTMENT,
BASICSAL to store Employee’s Identification Number, Name,
Department, and Basic Salary respectively. There can be two or more
Employees with the same name in the organization.

(i) (a) Help Nisha to identify the attribute which should be

designated as the PRIMARY KEY. Justify your answer.
OR

(b) Help Nisha to identify the constraint which should be applied
to the attribute NAME such that the Employees’ Names cannot
be left empty or NULL while entering the records but can have

duplicate values.

(i) (a) Write the SQL command to change the size of the attribute
BASTCSAL in the table EMPLOYEES to allow the maximum

value of 99999. 99 to be stored in it.
OR
(b) Write the SQL command to delete the table EMPLOYEES.

(a) Expand and explain the térm URL.

OR
(b) Expand the term PPP. What is the use of PPP ?
Page 15 of 32




29.

30.

91

(a)

(b)

(a)

E'g.ﬁ']
[
E 1

gug -1 B3x3=9)

Teh IRIPH BaRF (Python function) TTiad SN Uk 390 B84 "Elections. txt”
¥ 'vote ' W Tl it ufdE i efia AT § | SerEr S ol AR wEw A R
In an election many people vote to choose their representative.

The candidate getting the maximum share of votes stands elected.
Normally, one person has to vote once.

The process of voting may vary with time and region.

T output I8 BFT AT :

In an election. many people vote to choose their representative.
Normally, one person has to vote once.
YT

T TR BRH (Python function) &Y S "Report. txt" THH ¢FE
HEA W TH W (vowel) T IE 3R T T o) ofl vl =h1 Teffa s § |
A (consecutive) I6E output T Th AT (space) TR STAT-3TT vl
ST =TT | SETE & R I SR 4 I8 & -

Once there was a wise man in a village.

He was an awesome story-teller.

He was able to keep people anchored while listening to him.
d9 output I8 ‘{?HT%IT%Q

Once a a awesome able

ClrStack TS T TUEY (stack) § T© TN & NHis 7 | TS (&h 1S Th 7ua
(tuple) % &9 H IX T@I-ColorName, RED, GREEN, BLUE % YERid
M 8 | ColorName T &1 (string) % 3 RED, GREEN, BLUE TUli%
(integers) & | 3CT&W & o wogw (stack) § U S ('Yellow', 237,

3

250, 68) S EHATR | 3x1=3

Clrstack W A< operations % % 1 M (Python) # ferfeifad
%WEWFH (user-defined functions) %TREQ ,

(i) push _Clr(ClrStack, new Clr): Ig % (function) stack
ClrStack 3R T =€ new Clr & 311'{72@2 (Arguments) & &9 4§
AR ﬁwﬁﬁwﬁaﬁw (stack) H STETaT B |

(i) pop Clr(ClrStack): 98 B&®HM (function) TUEW (stack) ¥ T&r=
TiptE =1 9T (pop) SHiaT B 3NT W MY (return) T 8 | 96 R (stack)
BN @(EDT fere @ﬁ M ! "Underflow" WE&HWW%Q !

(iii) isEmpty(ClrStack) : I8 BN (function) I8 JE ST & 6 T
stack T& 2 | Il stack TR & & - $1 True IT09 (return) T
=TEW 31T HEH Bl False IUG (return) T IIET |

YAl
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SECTION-C (3x3=9)

29. (a) Write a Python function that displays all the lines containing the
word 'vote' from a text file "Elections.txt". For example, if
the file contains : , 3
In an election many people vote to choose their representative.
The candidate getting the maximum share of votes stands elected.
Normally, one person has to vote once.
The process of voting may vary with time and region.
Then the output should be :
In an election many people vote to choose their representative.
Normally, one person has to vote once.
OR
(b) Write a Python function that displays all the words starting and
ending with a vowel from a text file "Report.txt". The consecutive
words should be separated by a space in the output. For example, if
the file contains :
Once there was a wise man in a village.
He was an awesome story-teller.
He was able to keep people anchored while listening to him.
Then the output should be :
Once a a awesome able

30. (a) A stack, named ClrStack, contains records of some colors. Each
record is represented as a tuple containing four elements -
ColorName, RED, GREEN, BLUE. ColorName is a string, and
RED, GREEN, BLUE are integers. For example, a record in the
stack may be ('Yellow', 237, 250, 68) 3x1=3
Write the following user-defined functions in Python to perform the
specified operations on ClrStack:

(i) push_Clr(ClrStack, new_Clr): This function takes the
stack ClrStack and a new record new_Clr as arguments and
pushes this new record onto the stack.

(ii) pop_Clr(ClrStack): This function pops the topmost record
from the stack and returns it. If the stack is already empty, the
function should display the message "Underflow".

(iii) isEmpty (ClrStack) : This function checks whether the stack
is empty. If the stack is empty, the function should return
True, otherwise the function should return False.

OR

91 Page 17 of 32 ~ P.T.O.
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31.

91

(b)

(@)

E‘§.E|
13
&

yreA (Python) T fefafEd TR fewree v (User defined functions)
Ehl[ %ﬁ-\@Q :

@)

(i)

(1i1)

push trail (N ,myStack) : @t N 3R mystack foreem (lists) Ed
3T myStack T stack & TR (represent)_m% lS‘HW?ﬁ list
N @ 3ifcw 5 elements, myStack W (stack) T Yo =Y | IR H
fm ok w=h N [1,2,3,4,5,6,7] %, @ wwW  (function)
push_trail () %! 3,4,5,6,7 elements, stack W oo =TlRY
mstack%ﬁéﬂ(value) [3,4,5,6,7] B |

%Iﬂﬁﬁﬁ NEHAUHA 5@%4{5 (elements) T

pop_one (myStack) : T GagH Wl &% (stack) myStack q T
element 99 (pop) T 7feu 3T 39 element ! gmug (return) T
=ifee | A stack TR 2 A BEE H 'Stack Underflow! T
WHWTEF%Q 31T None ITUH (return) T =Y |

display all (myStack) : FEE Bl wWe myStack & ol
clements, T8 37eh &CH, wefdia e =R | Al stack o & @ HRH
! 'Empty Stack'ﬁﬁﬂgﬂﬁﬁamﬂ?m%Ql

Prefafiaa ie 1 TR (output) FARY :

def ExamOn (mystr)

newstxr = ""
count = 0
for i in mystr:
if count%2 != 0:
newstr = newstr + str (count-1)
else:
newstr = newstr + i.lower ()
count += 1
newstr = newstr + mystr[:2]

print("The new string is:", newstr)

ExamOn ("GenX")

JE
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(b) Write the following user-defined functions in Python :

@) push__tréil (N,myStack) : Here N and mystack are lists, and

~ myStack répresénts a stack. The function should push the last
5 elements from the list N onto the stack myStack. For
example, if the list Nis [1,2,3,4,5,6,7], then the function
push_ trail() should push the elements 3,4,5,6,7 onto the
stack. Therefore the value of stack will be [3,4,5,6,7].

Assume that N contains at least 5 elements.

(ii) pop_one (myStack): The function should pop an element
~ from the stack myStack, and return this element. If the stack
is empty, then the function should display the message ' Stack

G

Underflow', and return None.

(1i1) diép’lay__all (myStack) : The function should display all the
elements of the stack myStack, without deleting them. If the
stack is empty, the function should display the message
'Empty Stack’'. ‘ : i

31. (a) Predict the output of the follbwirig code : : 3
def ExamOn(mystf) '
newstr = ""
count = 0
for i in mystr:
if ¢ount%2 1= 0:

newstr = newstr + str(count-1)

else:
newstr = newstr + i.lower ()
count += 1 o
newstr = newstr + mystr[:2]
: print("The new string is:", newstr)"
ExémOn("Gean)
OR
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. i B |
M) frfaaa T $ig & e (execution) X 3M3YE (output) %if\@l?} B
def Change (X) : L
 for K,V in X.items():
L1.append (K) |
12 . append (V)
\\D={1:"ONE",2:"TWC",3:"THREE"}
m=(] |
1=
'Change(D)’
'print(ALl)
print(L2)

“print(D)

| | e - (4x4=16)

o, e Bt (construction site) & 9% (Gate) T R T R e H |
| ’WORKERW@HT%EFT (table) @ 51 2 @l WID, WNAME, WAGE, HOURS,
TYPE, 3N SITEID srrﬁlﬂ% | iR SR = % WG o2 3o RSt (data)

PefmemerdTRRE@RE -
WID | WNAME WAGE | HOURS  TYPE SITEID | |
W01 |Ahmed J 1500 | 200 |uUnskilled | 103

W1l |Naveen S 520 100 | Skilled 101
W02 | Jacob B 780 95 |uUnskilled | 101
Wis | mihal K | ‘560 | 110 |Semiskilled | NULL
W10 |Anju § | 1200 | 130 | skilled 103
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def Change (X) :

Ll .append (K)
L2 .append (V)

O EEE
14
| EJ%

(b) Write the output on execution of the following Python code:

for K,V in X.items() T

- D={1:"ONE",2:"TWO",3:"THREE"}

Li=[]
L2=[]
Change (D)
print (L1)
print (L2)

- print(D)

SECTION - D

she entered data in it, which is as follows :

SITEID

WID | WNAME | WAGE | HOURS TYPE

WOl |Ahmed J | 1500 | 200 |Unskilled 103

Wil |Naveen S | 520 | 100 |sSkilled 101

W02 |Jacob B | 780 | 95 |unskilled 101

W5 |Nihal K | 560 | 110 |Semiskilled | NULL
W0 [anjus | 1200 | 130 |skiliea 103

o1 , | Page 210f32

(4x4=16)

32. Suman has created a table named WORKER with a set of records to
" maintain the data of the cdnstruction sites, which consists of WID,

WNAME, WAGE, HOURS, TYPE, and SITEID. After creating the table,

P.T.O.
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(@ TR SRS (data) % mmﬁm%rﬁgaq@%sﬁta"rm

G 8009 1500%@%{@143@3@%@%w :ﬂﬁtna@ (wages) i
el % % 7 SQL statement %ﬁé"é{ | ,,

@) Tom et 6 SITEID Y[ 78l &, mﬁaﬂéaaﬁhmﬁ%%@ SQL
statementﬁ’{ﬁ@ﬁ |

Gii) 37 o TGl R TYPE 'Skilled' ¥, 3THI WNAME, WAGE 3R
HOURS ua%?améaﬁw SQL statement fafe | _

(1v) ﬁﬂﬁﬁ?@m TYPE "Semiskilled" 8, 37 ol 1 WAGE 1200 Ercko
1%& SQL statement et |

31?43'{

, (b) IR G Tlé WORKER T T R %@ ¢ ﬁﬁlﬁﬂﬁiﬁ SQL e ﬁm

(executlon) T IMRECYE (output) Ha'l@

(1) SELECT WNAME, WAGE*HOURS FROM WORKER WHERE
SITEID = 103;

@11 SELECT COUNT(DISTINCT TYPE) FROM WORKER;

(ii1) SELECT MAX(WAGE), MIN(WAGE), TYPE FROM WORKER
GROUP BY TYPE;

(iv) SELECT WNAME, SITEID FROM WORKER WHERE
TYPE="Unskilled" ORDER BY HOURS;

np record.csv" ATHH U csv HI5A H Th EE TS S e @™ |

: W%Wf@ﬂéﬁﬁﬁ%@ﬁm (data) & :

o UftwIAM
e wmdl
o YAUMW

W%ﬁﬁwmmﬁﬁé%ém%:
["Gunjan", "Jaundice" , 4, 15000]
sﬁwﬁﬁﬁﬁgﬁﬁm%ﬁﬁm Python functions ferﬁaq

() read data() W%ﬁéﬁﬁwﬁwéﬂ(data)ﬁw%aﬁiw

Cancer’ W%WWW% |

(i) count rec() Wﬂﬁ&%ﬁsﬁwa‘%mmaﬁmm%ﬁﬂa@a
(returns)m%l
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(a) DBased on the data given above, answer the following questions :

(1) Write the SQL statement to display the names and wages of
those workers whose wages are between 800 and 1500.

(i) Write the SQL statement to display the record of workers
whose SITEID is not known.

(i) Write the SQL statement to display WNAME, WAGE and HOURS of
all those workers whose TYPE is 'Skilled'.

(iv) “Write the SQL statement to change the WAGE to 1200 of the

workers where the TYPE is "Semiskilled".
OR

Considering the above given table WORKER, write the output on
execution of the following SQL commands :

(i) SELECT WNAME, WAGE*HOURS FROM WORKER WHERE
SITEID = 103;

(1) SELECT COUNT (DISTINCT TYPE) FROM WORKER;

(111) SELECT MAX (WAGE) , MIN(WAGE), TYPE FROM WORKER
GROUP BY TYPE;

(iv) SELECT WNAME,SITEID FROM WORKER WHERE
TYPE="Unskilled" ORDER BY HOURS;

A csv file "P_record.csv" contains the records of patients in a hospital.

Each record of the file contains the following data : 4
o Name of a patient
o Disease

® Number of days patient is admitted

° Amount

For example, a sample record of the file may be :
["Gunjan","Jaundice" ,4,15000]

Write the following Python functions to perform the specified operations
on this file :

(i)  Write a function read_data() which reads all the data from the
file and displays the details of all the 'Cancer' patients.

(i) Write a function count rec() which counts and returns the
number of records in the file.
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a4 wg R e 319 T wen Gt (R.TSN.) (Creative Art Gallery (CAG) F 3 A
) fwr ¥ @ @ ¥, R, Fd (Sculptures) anfe S ol e B
HATE! 1 S 8 | Hepiaal (Art creations) 3 FAR (Artists) F S
(data) ShHII: arferent (table) Articles 3N Artists 7‘3_(@ | S aﬂfﬁaﬂiﬂﬁ

J o Tepigd T THRE : 4x1

r——'---—-—r--'-—---—---——-r--———--—--——-——-.——-—*—————-—-——m——ﬁ-—-’-—-|

| ‘Code i A Code ; Article | DOC i Price |

o o — o o o s o o o o o o o i e '
| |

| pLo01 | 20001 ! Painting | 2018-10-19 . 20000

| |
| | 1 |
A0004 | Sculpture , 2021-01-15 | 16000 |
i i

B e am e o o

——— o T b eidiandinbarliciun haani e e e e T T b hadiobaiie it -
i.é_g?ci?j_-_lq_a_lf‘_e____lL-__PPf’_‘_‘?___L.____-_E_If‘?_:'ﬁ _____ | _DOB ___|
| 20001 IRoy | 595923 | aCraG.com | 1986-10-12 !
% 20002 2Ghosh %1122334 : hosh@CrAG.coml; 1972—02-052
| 0003 | Gargi 121212 | Gargi@CrAG. com | 1996-03-22 |
| 20004 |Mustafa | 33333333 | MEeCrAg . com | 2000-01-01 |

Popfi: e aTiRIRAl (tables)ﬁaﬁmmﬁﬁ a1 Teplen & |
e DOC Fmium H arii@ (Date of Creation) % |

0.5, (cemeeep e ) 35 ) 3w f P 3 o SQL queries foret

@) T@f (Price) ¥ 3eE! (descending) A T Articles table EERek | W@H ED)
Tefia s %

(ii) ﬁ'ﬂaxgaﬁﬁaézozoﬁmwmmﬁawmﬁaeﬁﬁ%ﬁml
(iii) Artists table <h1 G (structure) TeRia FE S T |

(v) (a) sEN-eM (Equi Join) 3% g AR (Painting) TEA SHerrhi o aefl
SRR 3 T TERd i o o1 |

T

(b) 3w go@ (Natural Join) < TR AT (Painting) TEN HETH 5
Toft SBT3 T SERid o for |
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34, Assume that you are working in the IT Department of a Creative Art
Gallery (CAG), which sells different forms of art creations like Paintings,
Sculptures etc. The data of Art Creations and Artists are kept in tables
Articles and Artists respectively. Following are few records from

these two tables : 4x1=4

i_ Code i A Code ! Article—_i _____ D_ O_C___ ! Price i
; éi&Bi“{'XéEéI’?’EAEQEEQ; ; 2018—10—195 20000 ;
| SC028 | A0004 | Sculpture ; 2021-01-15 | 16000
i QLO005 i 20003 i Quilling i 2024-04-24 i 3000 i

!A_Code | Name | Phone ! Email ! DOB '
I o — famim fosm e m i dm - — e .
| 20001 | Roy | 595923 | LRCTAG. com 1 1986-10-12 |
| 20002 | Ghosh 11122334 | ghosh@CrAG.com ! 1972-02-05 |
E A0003 EGargi 5121212 ;Gargi@CrAG.com;1996—03—22E
| A0D004 |Mustafa | 33333333 |Mf@CrAg.com | 2000-01-01

Note : ® The tables contain many more records than shown here.
e DOC is Date of Creation of an Article.

As an employee of CAG, you are required to write the SQL queries for the
following :

(1) To display all the records from the Articles table in descending
order of price.

(i) To display the details of Articles which were created in the year
2020.

(1ii)) To display the structure of Artists table.

(iv) (a) To display the name of all artists whose Article is Painting
through Equi Join.
OR
(b) To display the name of all Artists whose Article is 'Painting’
through Natural Join.
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CINEMA database i THEATRE T TTieienl (table) ) AT fEfafea § - 4
|__Field . _ | TYpe .

‘i Th_ID '| char(5) :

i Name i varchar (15) i

i City ; varchar (15) ;

| Location | varchar (13) i

|Seats _ _ idmt_______ . i

Delete Theatre() function R S STEwTRal (user) ¥ Th_ID I W IR
ATt D SEd gefia Tt whe & R s |

qERM SeE gaeFar (Python-Database connectivity) % o™ Aefafga o= o -
Host : localhost, User : root, Password : Ex2025

e -§ (2 x 5=10)

PASSENGERS . DAT U 1Sl & SNl 1w & Repigd (records) o Frefaied R
T LA & -

[PNR, PName, BRDSTN, DESTN, FARE]
o
PNR - JE ST (string type)
PName -  JEIHIAM (string type)
BRDSTN - SIETRYA (Boarding Station) HITH (string type)
DESTN = ﬁaaxém (Destination Station) &AM (string type)
FARE - e e e Ui (float type)

Frefafea T & =& Python T I RwEe wa (user defined functions)

W M

(i) Create() — T % TR data $14E (input) % 3 39 binary file
PASSENGERS . DAT ¥ fofg o Tt |

(i) SearchDestn(D) - PASSENGERS . DAT H1Ed o HI<dH (contents) ED
Lres) 3 37 Rt ¥ frer veRia W % forg R DESTN (A TI) D
3¢ (value) = IET 7|

(i) UpdateFare()— @l TR 1 RN 5% WEMT 3T PASSENGERS . DAT.
HEA IS (update)ﬁmwﬁﬁégammﬁ%m l
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A table, ‘named THEATRE, in CINEMA database, has the following structure :

E s
‘Th ID < t'char(5)

i Name i varchar (15)

| city ! varchar (15)

+Location ivarchar(l5)

Write a functlon Delete Theatre (), to input the value of Th _ID from

the user and permanently delete the corresponding record from the table.
Assume the following for Python-Database connectivity :
Host : localhost, User : root, Password : Ex2025

4

SECTION-E . @x5=10)

A file, PASSENGERS DAT, stores the records of passengers usmg the

following structure :
[PNR, PName, BRDSTN, DESTN, FARE]

- where : |

PNR - ‘Passenger Number (string 'type)

PName -  Passenger Name (string type)

BRDSTN - Boarding Station Name (string type)
DESTN - Des’tinationVStation Name (string type)
FARE - Fare ameunt for the journey (float. type)

~ Write user defined functions in Python for the following tasks :

() Create() - toinput data for passengers and write it in the binary
file PASSENGERS . DAT. ' | ‘

(ii) SearchDestn (D) — to read contents from the file PASSENGERS . DAT

and display the details of those Passengers whose DESTN matches

with the value pf D.

(iii). UpdateFare ()— to increase the fare of all passengers by 5% and
rewrite the updated records into the file PASSENGERS .DAT.
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oo nﬁéﬁmwﬁtm%éﬁﬁ“wm”q%agrﬁszrﬁéfm(NGO)%ﬁam?'
g@mwﬁ%!%@wmﬁm@mwmﬁmm
w2 | R By § W e aRiT SRR (ADMIN), TR
(PSYCHIATRY), SRR (PSYCHOLOGY) 3R 3t (ICU) 2 | T eIk

"W%Wﬁﬁﬁ%ﬁgﬁﬁﬂﬁ(parameters)ﬁﬁmﬁ:@ﬁﬁw(i)@f(v)?ﬁﬁ
m@/mﬁ@mm%wmmmmmm%z |
S o : Ex1=5 ¢

(ADMIN) (PSYCHOLOGY) ;
e L B 1 U )
' (PSYCHIATRY) 4
e it 1 g s B g (e )
wa el O U
YNGR (ADMIN) TRffpeT (PSYCHIATRY) 65 .
TSI (ADMIN) THREH (PSYCHOLOGY) 65 .
TN (ADMIN) sy (1cw) | 65 .
TARIREGET (PSYCHIATRY) FAEH (PSYCHOLOGY) 100 .
RReeET (PSYCHIATRY) aé@ﬂ%g(xcﬁ) ' 50 #i.
TR (PSYCHOLOGY) I (ICU) |50 T
et g & AT UE rter H gl = 700 6.1
T it T e %) T 38 T E ;
(o Waﬁé@:ﬂ
R (ADMIN) , 16
ffReeaT (PSYCHIATRY) | 40
| wfF™ (PSYCHOLOGY) 19
s (Icy) 20
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. ‘Swabhaav’ is a big NGO working in the field of Psychological Treatment

“and Counselling, having its Head Office in Nagpur. It is planning to set .
up a center in Vijayawada. The Vijayawada Center will have four blocks —
ADMIN, PSYCHIATRY, PSYCHOLOGY, and ICU. You, as a Network
Expert, need to suggest the best network-related solutions for them to

- resolve the issues/problems mentioned in questions (1) to (v), keeping the
following parameters in mind : ‘ ; . Bx1=5

~

ADMIN | |PsycHOLOGY
Block - Block

Vijayawada Center Loy

PSYCHIATRY ICU
Block . Block

Blockk to Block distances (in metres) :

- From . y. To | Distance
ADMIN PSYCHIATRY 65 m
ADMIN - PSYCHOLOGY 65 m
ADMIN - l1cu 65 m

PSYCHIATRY | PSYCHOLOGY |100 m

PSYCHIATRY | ICU - 50 m

PSYCHOLOGY | ICU 50 m

: - Distance of Nagpur Head Offlce from Vijayawada Center =700 km

Number of Computers in each block is as follows :

Block No. of Computers
| aDMIN . 16
PSYCHIATRY 40
PSYCHOLOGY 19
ICU | 20
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(i)» W%%mﬁ(server)%mwmmwwwaﬁm
mﬁwwﬁﬁwm@mx |

(i1) TS 5 3 TR A b mwmﬁ@@%ﬁmﬁag{é&m |
V JIHT (Hardware Devme)ﬁg%ﬂaﬁﬁ ?
(111) %mra@é?a% mﬁmmﬁwﬁ%sﬁgﬁ%%ﬁ@éﬁaﬁm
, (cable layout)‘ﬂ@ }
(iv) W%ﬁwmﬁ?@?mﬁ%ﬁﬁ router@ﬁ'{rﬂﬂzﬁtﬂiﬂ
& (@ W%WW&WW%@%@&W% (remotely)
W?@% twﬁ%ﬁaﬁqmﬁa@a (protocol)ﬂ'@mma'@’n ?
JUEl

®) W@Wé@m%mﬁqmm@m,m&hamm
WAN) e feen ST ?
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(i)

(ii)

@)

)

Suggest the most appropriate location of the server inside the

Vijayawada Center. Justify your choice.

Which hardware device will you suggest to connect all the
computers within each block of Vijayawada Center ?

Draw a cable layout to efficiently connect various blocks within the

Vijayawada Center.

Where \should the router be placed to provide internet to all the

‘computers in the Vijayawada Center ?

(a) The Manager at Nagpur wants to remotely access the computer
in Admin block in Vijayawada. Which protocol will be used for
this ?

OR

(b) Which type of Network (PAN, LAN, MAN or WAN) will be set
up among the computers connected with Vijayawada Center ?
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